5

)

—

AN

M TE

395

=2 15 &
= FIHIX 3C @
N hvd
H=& | TEO—E0
| R |1 :500
I
|
|
—_ |
|
I 40 . ST T T T T T s — -
- | |- AEE | TE -
8.
! > o 15.91 5.25 7.36 EXIv
| - ‘s
382 383 384 385 386
' o B e \
I 8 NG 387 & BE
| « (79.38) (39.67)
"300 | 4.83
[ 5,12 )
| s 388 386 | o
< ~ q-
I 4.35 [2.005 (39.89) 387
| @ 3 0 6.35 712
o .
| {3 & 2 389 I -
| s g o
@ © @
8.78
' (633.28) (467.73) o 3738 1,29
! (261.87) - .
| 390
| 2 .
| = <
| 2t 20 501 o (60.37)
| 30.09 : = 7.12
) N
] B 3 o 394 1 KE
| < < 9
| L (341.73) 0.97 392
@
| 8 S
| 40.58 - . - 3.38
| 2 380 sio (213.21) 395 394 | 393
| © 059 (20961 w
| 9.74 & 573 - ?
| 379 o ’ (28.58) [©
| I ] 392
[ = oo 8
| (277.36) (223.02) © il 3.3
378 <
N 3.00_
378 'fq)ﬁ Hg | \_\ 30.20 v 396 24,97 398 3 401
| 553 N .45 10.95 776 45 | 3.3 544 S
w0
| g . 02?77;_; 375 |a 374 ke 397 g 395 | 304 393 399 %00
. | © ) o o 2} ] <
s | o cosn Ty s I3 g :
- g = -
: N 376 53|, (102.76) 10.98 © 398 §(4|.|e) 3 (80.00)
< (49.2 r|® “ - ! I.18] 3.39 9.45 .
| 3) e e 373 [ (40.35) | 3.0 73,03 396 1 BK
T6.47 7.84 =
| o I — 0.37 °
063 2 3 8.86 g 6.53 1.30_2 . 401 392
9.72 ") | (48.72) 372 o 399 400(\1 ) 2 379
376 o | 10.39 8 2 5 2 a1 ° 3 7.62
g l 8 g L i (153.00) 0013 3% ¢
<lw < (46.7)) o 8897 (54.97) [(39.75) : = (3.49), o
| 10.33 8.82 10.50 6.43 4.36 1411 374 |o .46
| 13.48 560 14.64 ‘o 10.63 1559 397
ll " z § 3 6 < 402
~  (96.20) © N &
| 13.47 056 9.35 (r8.61) 3 fad
| - 10.86 = -
| 367 N 365 F; (175.02)
< (46.63) -
| 8.80 9.18 ) 6.35
| 2.082 E
\ - : £ _]“i
2 M S 32 |72 36l
| 2 % |7 (48.76) ©
| (435.47) 2l (195.24) S ———_ 2
o —
| 363 < Q b
| @ LI
| M 8 (149.45) °on
3 o
| % (81.87) ®
} 14.23 9.62 8.71 5.74 ez 2
|
I 404
- |

Ot T
HREEM - IRIE mERT




